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Choose the correct answer. 
 

1. The solution of the equation 
2
1sin =x  is 

(a) Znnn ∈






 +∪







 + ,2

3
22

3
ππππ

  (b) Znnn ∈






 +∪







 + ,2

4
52

4
ππππ

  

(c) Znnn ∈






 +∪







 + ,2

6
52

6
π

π
π

π
  (d) none of these 

      2. The solution of the equation 1tan3 2 =x  is 

 (a) Znnn ∈






 +∪







 + ,

6
5

6
ππππ

  (b) Znnn ∈






 +∪







 + ,2

3
22

3
ππππ

 

 (c) Znnn ∈






 +∪







 + ,

4
5

4
π

π
π

π
  (b) none of these 

      3. The solution of the equation 03cos4 2 =−x  is 

 (a) Znnn ∈






 +∪







 + ,2

6
72

6
ππππ

  (b) Znnn ∈






 +∪







 + ,

3
2

3
ππππ

 

 (c) Znnnnn ∈






 +∪







 +∪







 +∪







 + ,2

6
72

6
52

6
112

6
π

π
π

π
π

π
π

π
 (d) none of these 

      4. The solution set of the equation 0cos1 =+ x  is 

 (a) Znnn ∈






 +∪







 + ,2

2
32

2
π

π
π

π
  (b) Znn ∈+ },2{ ππ  

 (c) Znnn ∈






 +∪







 + ,2

4
52

4
ππππ

  (d) none of these 

      5. The solution of the equation 
3
4cos 2 =xec  is 

 (a) Znnnnn ∈






 +∪







 +∪







 +∪







 + ,2

3
52

3
42

3
22

3
ππππππππ

 

 (b) Znnn ∈






 +∪







 + ,

3
2

3
π

π
π

π
 (c) Znnn ∈







 +∪







 + ,2

4
52

4
π

π
π

π
  (c) none of these 

      6. The solution of the equation 
3
4sec2 =x   is 

 (a) Znnnnn ∈






 +∪







 +∪







 +∪







 + ,2

3
52

3
42

3
22

3
ππππππππ

 

 (b) Znnnnn ∈






 +∪







 +∪







 +∪







 + ,2

6
72

6
52

6
112

6
π

π
π

π
π

π
π

π
 

 (c) Znnn ∈






 +∪







 + ,

6
5

6
ππππ

  (d) none of these 
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       7. The solution of the equation 
3
1cot 2 =x  is 

 (a) Znnn ∈






 +∪







 + ,2

3
22

3
π

π
π

π
  (b) Znnn ∈







 +∪







 + ,

3
2

6
π

π
π

π
 

 (c) Znnn ∈






 +∪







 + ,

4
3

4
ππππ

  (d) none of these 

       8. The solution of the 
3

1cot =x  in ]2,0[ π  is 

 (a) 
6

5,
6

ππ
  (b) 

3
4,

3
ππ

  (c) 
4

5,
4

ππ
  (d) 

2
3,

2
ππ

 

      9. The solution of the 2cos =ecx  in ]2,0[ π  is 

 (a) 
6

5,
6

ππ
  (b) 

3
4,

3
ππ

  (c) 
3

2,
3

ππ
  (d) 

4
3,

4
ππ

 

 
10. The solution of the 2sec −=x  in ]2,0[ π  is 

(a) 
6

5,
6

ππ
  (b) 

3
4,

3
ππ

  (c) 
3

4,
3

2 ππ
  (d) 

3
2,

3
ππ

 

     11. The solution set of the 
2
1cos =x  is 

 (a) Znnn ∈






 +∪







 + ,2

3
52

3
ππππ

  (b) Znnn ∈






 +∪







 + ,2

6
72

6
ππππ

  

 (c) Znnn ∈






 +∪







 + ,

3
5

3
π

π
π

π
  (d) none of these 

     12. In which quadrant is the solution of the equation 01sin =+x  
(a) 1st and 2nd   (b) 2nd and 3rd  (c) 3rd and 4th  (d) none of these 

     13. In which quadrant is the solution of the equation 
3

1cot =x   

 (a) 1st and 2nd  (b) 1st and 3rd  (c) 2nd and 4th  (d) none of these 
     14. The solution of the equation 0cossin =+ xx  is 

 (a) Znn ∈






 + ,

4
3

π
π

 (b) Znn ∈






 + ,

6
5

π
π

  (c) Znn ∈






 + ,

2
π

π
 (d) Znn ∈







 + ,

3
π

π
 

     15. The equation containing at least one trigonometric function is called 
 (a) exponential equation    (b) logarithmic equation     
  (c) trigonometric equation   (d) Algebraic equation 
     16. If  0sin =x  then =x  

 (a) Znn ∈,π   (b) Znn ∈,
2
π

  (c) 0   (d) none of these 

     17. The number of the solutions of the trigonometric functions is 
 (a) unique  (b) finite  (c) infinite  (d) zero 
     18. The equation which contain xe  is called 
 (a) exponential equation    (b) logarithmic equation     
  (c) trigonometric equation   (d) Algebraic equation 
     19. xx tansec =  is a 
 (a) exponential equation    (b) logarithmic equation     
 (c) trigonometric equation   (d) Algebraic equation 
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     20. 151 2 +=+ xx  is 
 (a) exponential equation    (b) logarithmic equation     
  (c) trigonometric equation   (d) Algebraic equation 
     21. If x  satisfies the equation 0)( =xf  then x  is called the 
 (a) order  (b) solution  (c) power  (d) none of these 
     22. The graph of the trigonometric functions repeats because trigonometric functions are 
 (a) simple  (b) linear  (c) periodic  (d) none of these 
     23. In solving trigonometric equations, first find he solution over the interval whose length is equal to 
 (a) unity  (b) its period  (c) length  (d) none of these 
     24. If a trigonometric equation contains two trigonometric functions then in order to solve this equation 

we convert this equation to 
(a) a simple equation    (b) linear equation 
(c) quadratic equation    (d) an equation containing one function 

25. A function )(xf  is said to be the periodic function if for all x in the domain of f , there exists a smallest 
 positive number p such that =+ )( pxf  

 (a) )( pf   (b) )(xf   (c) )0(f   (d) none of these 
  

 
 

********************************************************************* 
For updates visit http://www.mathcity.org 

********************************************************************* 
 
 

Made by MUHAMMAD IMRAN QURESHI 
(http://www.mathcity.org/imran) 

http://www.mathcity.org
http://www.mathcity.org/imran)

